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/t 15 30 50 120 300
150
1060 1500 1650 1800 2400 2500
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60 130 55 80 75 70
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7G35 1l 16 Mn 16Mn
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n & A;
2 +0.5773503 1
3 0 0.8888889
+0.7745967 0.5555556
4 +0.3399810 0.6521452
+0.8611363 0.3478548
0 0.5688889
5 +(0.5384693 0.4786287
+0.9061799 0.2369269
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) b_a" b+a l)—a
Idfdez > ;Aif( T El) 2-3-18
2-3-18 A, & 2-3-2
b+a b-a
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2-3-12 15t
2-3-3
G, =161.7kN G; =40.425kN
01 =6.8x10%kg/m? pj =3 x 10kg/m’
G G.
Vi=—=2.426m’ Vi=—"1=1.375m’
) Oi 8

Vi=V;+ V, =3.801m’

Gy=Vy pj=111.75kN

Gi= G, + G- Gy =90.376kN

or=p - pj=3.8x 10°kg/m’

H=1.95m
Zys  2.224
/ 0
Zys . 1.809
/ 0

us

us
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2us 23
a
2us V
zus f V Zus :f V
V 2 s Zus 2 s
V Zys
vV 24 [V -V I<e 3
2us
Mk Mm 2_3
-1
Mm
md
M,= G6Gk+6G, +6G + G > 2-3-23
Gy— kN
c,— kN
G — kN
G — G kN
2-3-4
1 i — 1 2 3 1 2 3
2 A; — 0.5556 | 0.8889 | 0.5556 | 0.5556 | 0.8889 | 0.5556
3 & — -0.7746 0 0.7746 |- 0.7744 0 0.7746
4 / Zus/ Zux m 2.224/0 1.809/0
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zi_z“*gz“* z“*;z“gi m | 0.2506 | 1.112 | 1.973 | 0.204 | 0.9045 | 1.605
r m 0.953 | 1.12 | 1.12 | 0.942 | 1.12 1.12
e m 1.81 1.12 | 0.25 | 1.424 | 0.898 | 0.201
e 1= eilr — 1.899 | 1.000 | 0.223 | 1.512 | 0.802 | 0.179
9 6o 52 180 78 118 157 70
10 S — 3.082 | 1.571 | 0.192 | 2.553 | 1.175 | 0.141
11 | S; Aj=r2 S LA, m? 1.555 | 1.751 | 0.134 | 1.256 | 1.310 | 0.098
Zus = Zux 3
12 V==t NS4 m 3.825 2.410
i=1
13 0 kg/m® 3x10° 3.8x 10°
14 G kN G,=111.75 G;=90.375
NN li:%
15 ) — 0.056 | 0.667 | 0.116 | 0.420 | 0.627 | 0.126
sinj
16 | 1+ S x. A, m® | 0.0269 | 0.833 | 0.1296| 0.1951 | 0.7831 | 0.0984
— 3
V- x\:zus z"er? S x4
17 ’ 2 i m* 1.100 0.974
4;
18 x %y = V'Vx" m 0.288 0.404
19 | Z; S; A, m’ 0.390 | 1.947 | 0.264 | 0.256 | 1.185 | 0.157
Zus T Rux 3\ 4
20 Voozy = =mo NS4, m 2.892 1.445
’ i=1
21 z 2= Vo2, /V m 0.756 0.600
M, =11.475 1.194 x M;=9.158x 1.35x
22 M=G H -z, sina - x cosa kN m 0.707 - 0.288 x 0.707 - 0.404 x
0.707 x9.8=72.03 0.707 x9.8=60.07
23 J |i:%(€i—%sin20i) — 10.7326 | 0.3927 | 0.1447 | 0.4761 | 0.3875 | 0.1125
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24 | g oA m* | 0.3358 | 0.5494 | 0.1265 | 0.2082 | 0.5422 | 0.0984
25 | H-2z % SA m* | 4.4908 | 1.2296 |0.00007| 3.8289 | 1.4319 | 0.01166
Zus — Zux 2
]: us ux >V j‘ J\_ ;
26 Prr s kg m? Ju=22.435x 10° Jr=21.02x10°
A+ H-z; XS A,
27 Gy= G+ Gy kN 202.203
28 M,=M,+ M; kN m 132.104
29 Jy=Ju+ Ji kg m? 43.453 x 10°
1. * e 1;=% e i— 1 e;— ri—
2. . "
p— 7=0.1~0.15 7 =0.02~0.05
d +d
d—— m d =
2
M a M=f a
M-«
M, M, M, M
a M 2-3-13
120t
M, - a z
Mk a
Mk a :900
M, -a
a =50° ~ 60° a 70° a
120° M, M

m
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a— b— 1000kN
a 1_ 2— + 3_
6500kN m 337kN m
710kN m 278kN m
b 1_ 2— + 3_
6500kN m 238kN m
M,
{3 ” 2 _ 3 _ 13

183 -



M ... = KM,, 2-3-24
K—

K=1.1~1.3
M
M

300t

184 -



M o+ M, ,,——

y min

M=M +M +M,

0< M, + M

2-3-25
M

>

min =

=M

y min =

2M

m

m

2-3-125

2-3-26
185 -



L’ 2-3-15
¥4
\ a_|
. Ml
la %‘ L' \[ é E
"“ i K/ N s
) N Tt
m_ G| IFIN
LN // n
N[ s o) GU
—ﬁ»—xy———— z
2-3-15
a
Yy By Xy
K—— H,
L—— z H
L'— z H'
dH——
dH 2-3-15
L
M, = G, H- H, sina 2-3-27
M, =G, H- z sina - G x cosa 2-3-28
L/

M’k = Gk H’ - Hk Sina = Gk H - dH - Hk Sina
=M, - G- dH- sina 2-3-29
M, =G, H - z, sina - G- x,cosa = G, H - dH - z, sina - G, x, cosa

186 -



=M, - G ,dHsina 2-3-30

2-3-25
0 < M/k + M/y min = Mm
M, - G, dHsina + M - G dHsina= M,
Mk + My min Mm
di < Gy - G, sina 2-3-31
04
M, M, M,
Ms
50t 50kN 200kN m
300t 700kN- m
200 ~ 300mm
Ma
MW
k
k=1.1~1.25
M+ M, = M,+ M + M, + M, k 2-3-32
M, M,
M M, .-k M M,
dH: Kt y _min m t s 2_3_33

G, + Gy sina

187 -



188 -

2-4-1

2-4-2
2-4-1
2-4-3
2



300t

44—

55—

189 -



#-219

—vee] Pt

00ISHFRLLY

120t

2-4-2

11—

10—

190 -



wR

HAiEK

i

-~

sk

a\jY

© 191 -



-

L — l,— d—

2-4-4 0.687
~1.177MPa

192 -



7 50t

3

4

~ 50t

6

6t

300t

N

LT

©

L1

56 .l—-]
0

MR
-
e

L!Lunzzzr 9
.,/ LN

AT T SSES
sy
IS

9y
= S

300t

2-4-5

© 193 -



194 -

2-4-17

12



1.2~1.3

20% ~ 30%

13

10—

13—

12—

11—

- 195



6 5 4 3 2
\ / /] /
[/ /
Y 7 ]
| { H”}\ ] | _
7 I ‘ | 1= —
!
9
16
h
11
M
/\2 T
2-4-8 300t
1— 2— 3— 4— 5—
6— T— 8— o— 10— 11— 12—

196 -




50t b
2.6m 300t

2-4-10

197 -



300t

2-4-8

2-4-10

© 198 -



300t

2-4-11

10

11

10

10

10

2-4-114

500mm

10

2-4-11

11—

10—

199 -



10

200 -

2-4-12
13

2-4-14b

11



B —€1 W2l VGERET ‘AW 01 GEEE—6 RIGT—8 BANT—L
W9 CGBER—S S CHEH—Y R e RV HE—T ERENE AT
HIAHHEFENRSF T M 06 _(¥ 1y B

-y

T

ol

A .

t ¥
€1 :/ vm.m i
’ “Hi- 1

oy |

i B

e O

S

-
~N
]
%
N
Tt
anY
m— ;‘;’;
R
7

=

+
o

4

P e ot

il
;

«
\
r
gl

.
~

<L

R TN
~
w

4

201 -



2-4-13

2-4-14
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2-4-15

2-4-1
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300t 2-4-16

+20mm

ﬁﬁﬁ%i‘bf?ﬁiﬁ; ZEniaR i AL E

f.ﬁ< - ( /
IR

2-4-1



2-4-1
20 O @ 120 300
50 50 150 380
/m 2.1 16.56 15.96 17.34 18.76 24.4 24.5
/
/m 10.53 13.86 11.95 15.1 15.25 18.2
4.6 50 20 50 25.9 40 32
-
o 10 10 5 6 4.8 3.5 5
/mm $418 $730 $550 $800 $600 $900
—418 | 7z)-52 77] - 62
R ) ) D.C.814
/1-11-6
50/13
/kW 11/2.2 16 25/1.5 43 187 158
JC40%
648/930
/r min~! 715/883 700 | 1440/1400| 630 850
JC40%
7165 ZHL650
-8-1 -71)
122.9/
21/115.9 16 153 | 23.6/182 30
478.5
YDWZ - 300/
7CZ - 400
501/ YDWZ | ZWZ — 400
/100
~200/25)
/mm 850 1200 1200 1200 3000 4300
/m min~! 0.362 3.62 1.5 4 6.12/5.85 4
JO;3 - JHO
3 2 HM, - 593
90S - 6 -31-6
5.2/4
/KW 1.1 5.5 1.5 1.5
JC40%
/r min~! 930 1200 840 9107870 1500
T JC40%
DG - J80 -
7125
70 - El ZD-20- 1 + +
-2-1
8 7.1 6.6 232.6 884.5
T - JWZ -
200/100 200/100
/t 15.2 41.4 ~30 52.6 48.2 64
50t ® 50t
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2-4-17
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300t

10



300t

—4-17

2
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9
9
10
1 2
2-4-18
2 1
6 5
10
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2-4-20

2-4-19

17

48



2400

¥801

2-4-20

13—

12—

10 11—

17—

16—

15—

14—

16

17

13

14

10

14

15
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8
8
17
300t
120 ~ 150m/min
300t
20m/min

300t

12

+0.10mm



1300
24.1
24.1
150/50/20/8
+53
0.19
~ 80

213



<1.0mm

90%

1250°C

0.25%
214 -

Si

<0.6%

80 ~ 90%

<0.07mm

S <0.05%

P



100t

20t

320t

100t
15t
10t

300t
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2-5-1

2-5-1

25 ~35mm

50

300 ~ 400C

60°
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270t

140

1320°C

300t

1350°C

300t
90t

10

1t
1240°C

150t 300t 600t 900t
217 -



1300t 300t 600t 1300t

8 ~ 10h
15~20
Qzl.leAxer )
8x n
Q— t
A— t/d
K—
T 8 ~ 10h
n
0.8—
30t
10% ~ 12% 50 ~ 100t 13% ~ 15% 100t
15% ~20% 0.05% 5%
0.5t 0.5
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10 ~ 30

0.8
t/m’ 2.4~2.7 0.8~1.0 1.7

3~6 45° ~ 50°

24h
6~12

221 -



M

96, 9 gyﬁ -
%%}g A@u%{

2-5-4
a— b— c—
2.
14°
~ 18°
o _ Q
20 B_\/16O)fV 3.6ctangp + 1
o _ Q
30 B_\/160}" 3.6ctang +1.55
0— t’h
o — 35° 30° 30°
30°
¢ B<10° c=1 B=11°~15° ¢=0.97 B=16°~22°
c=0.9
y— t/m’

0.8~2.5m/s
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500 650 800 1000 1200 1400mm
3.

2-5-5
250mm
Co60
1
4 2
J N
|
5 3
6
7
2-5-5
1— 2—N, 3— 4— 5—Co60 6— T—
45° 38°
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10 ~ 50mm

30t

Bh Y

50t

224 -



5 ~20mm 10 ~ 30m/s
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1920

4000
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2-6-4 150t 1

2-6-5 300t
10 7 5 2
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2-6-9
]
12 16 1 2 3 4
—f . @ —
9
6
11 10 J 5
8 L 13
7 ;—J
A
Q -
-—ﬁlsm—{s/———»l 14
2550 ————————|
2-6-9
1— 2— 3— 4— 5— 6—
7— 38— 9— 10—
11 16— 12— 13— 14— 15—
1 2 3 4
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2-7-5

ONO

BE 38 E R

2-7-5

©® 0 P

CO

1~1.5min
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30t
1~1.5min

3 ~ 10min

> 30s

Cco

0,
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2-8-1
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D R=1.1D

YB9058—92
2

1.1D

246 -

V. m D m

c

V. = 0.790hD> - 0.046 D’

=150t

h'=0.09D V., m’

V. = 0.665hD> - 0.033D°

1993

5

R =

0.9~1.2

2-8-1

12 ~ 30°

2-8-2



30 ~ 80t

30t
“ <100t ”
d=0.7D V. m’ D m
h m
V. = 0.574hD’ 2_8_3
2-8-2
!
d i;”l
dw 3]
[ &
S
Dz
D
N— 1
!
2-8-2
D— D — d—
d — h— H —
H — H — H —
H — 0—
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1 D
co
t
G
=z 2-8-4
Q
Q o« D* 2-8-5
2-8-5 2-8-4
D o —? 2-8-6
D - g 2-8-7
G— t
— min 2-8-1
K— 2-8-2
2-8-1
t <30 30 ~ 100 > 100
min 28 ~32 32 ~38 38 ~45
12~16 14 ~18 16 ~20
2-8-2 K
t <30 30 ~ 100 > 100
K 1.85~2.10 1.75~1.85 1.50~1.75
2-8-7
2 h



2-8-1 2-8-2

2-8-3
V. +0.046 D’
b= 7000 2-8-8
V. +0.033D°
h =0 665" 2-8-9
V(t
h:agﬂﬁg 2-8-10
h, h./h
h/h=0.4~0.7 h/h=0.25~0.40
3
H -2.9
)
_ X . 3.4 _ _
h = 07 0 2-8-11
d— mm
o—— t/m’
P— 10°Pa
H—— mm
H = R, +Ax - md, /tgf 2-8-12
Rj— mm Rj = 0.05~
0.1 D
Ax mm  Ax = 170.90336 — 13.816m +
0.84155 H/d, + 3.63exp 9.82/P, - 195.7M + 49.56M* +
2.048sin 518 M B
m—— d, 0.8~1.0
h 2-8-1
2-8-3
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H
4y 4 V.-V -V
H = = : 2-8-1
wD? wD? 8 3
vV vV —
V— vV vV v
5
3
1 0
60 + 3°
2 d
43 ~ 539%
15m/s
3 H
H =300~400mm
H =1/2D-4d tgd + H 2_-8_-14
V =x/24 D’ - d° tg0 + n/4d*H
=0.262 H - H D*+Dd+d* -0.785d*H 2_-8-15
4
9, 0°  0°
45°
2 d
2 ~ 8min

250 -



5
V/T m’/t V,

1.35~1.65

7~15%
20 80

=v63+1.75T

t

cm

Si P S

0.90 ~0.95m’/t

2%

H

5~6%

2-8-16

2%

10 ~25%

251 -



80 ~ 100mm

2-8-3
2-8-3
t
<100 100 ~ 200 > 200
mm 60 ~ 115 115 ~150 115 ~ 150
mm 400 ~ 600 500 ~ 600 550 ~ 650
mm 115 ~ 150 115 ~200 115 ~ 200
mm 550 ~ 700 700 ~ 800 750 ~ 850
mm 115 ~ 150 115 ~ 200 115 ~ 200
mm 500 ~ 650 600 ~ 700 650 ~ 750
mm 300 ~ 450 350 ~ 450 350 ~ 450
mm 550 ~ 600 600 ~ 650 600 ~ 750
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2-8-5b

2-8-5a
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2-8-5 b
2
30t
16 Mn 14MnNb
2-8-4
2-8-5
2-8-4 mm
by 8, 3
Y
<30t 0.8~1.0 &, 0.0065~0.008 D’ 0.86,
8,
03
> 30t 0.8~0.9 5, 0.008 ~0.011 D’ 0.8~1.0 &,
D
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t 15 30 50 120 150" 300
mm 24 30 55 50 58 75
mm 24 40 55 70 80 85
mm 20 30 45 70 62 80
mm 5530 7000 7470 9750 8992 11575
mm 3548 4220 5110 6670 7000 8670
1
2-8-6

256 -




2.5~3.5 2-8-6
3%
2-8-6
15 30 50 120 150" 300
C
mm 1060 1500 1650 1800 2400 2500
mm 480 400 730 900 760 835
mm 100 255 80 100 83 150
mm 60 130 55 80 75 70
*
2
3~6
2-8-7 300t
120°
3
~8-7

257 -



— 2= 3— 4— 5—
6— a T— b 8—  9—
2-8-17
t 15 30 50 120 150" 300
mm $600 $630 $800 $850 $900 ~ $1350
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+

360°

1 0.15~1.5r/min
0.7r/min 50 ~ 100t

800 ~ 1000 30t

0.2r/min 0.8r/min 150t

0.15~1.5r/min

M,=Gx,

b —— 7K
R

259 -



100t
M
M,
zZ X
2K
XK
Gi—
2i X
Iy
a
Pk rg
a.
R,
z Z

260 -

150t

M=M + M, + M,

y

Gi = G, + G, + +G, = > G,
=1
Gz
B Gz, + Gyz, + +ann_ ; i
= G, + G, + + G, - Zn:Gi
=1
G.
_ Glxl + szz + + ann _ ; i
- G, + G, + + G, T
> 6
=1
My = Ggrgsin a + @
i kN
[} z x m
L 2-8-8 m
2-8-8
z 2-8-8
2-8-9 R,
R, =R, R;
Z5 V4 Z3 RO

2-8-17
2-8-18
2-8-19
2-8-20
2-8-21
M,
R,
20



b.
2y
50
G,—
d—
/l
3

"‘R"'!\ M,

le—R;

M;

S -

z

&
/ P-'Ro‘.-

RAE

10°

kN

0.10~0.15
2-8-17 M

My + M, > M,
M, M

MK + My o = Mn

G, G

2-8-22

0.02~0.05

2-8-23

2-8-24
261 -



2

2-8-17 M,= My+M, .+ M,

M, =2M,
—8-24 2-8-25
2-8-10
z
~ .
-/ e
]\ i‘ L’\/ 7’_ E
X K/ N
o G 1
] freadAw
} 7 X
o / G
‘t 0/ x
2-8-10
K =z
L =z
L' z
2-8-24 2-8-25
My+ M, .- M,
di < Gy + G, sina
M, -2M,
M <=6 46, sina
, MK_MV cr_Mc
H = H - G, + G, sina
M, -2M,
H/BH_ cr C

Gy + G, sina

262 -

2-8-25

2-8-26

2-8-27

2-8-28

2-8-29



2-8-8
t 15 30 60 120 150/180"
t 15~17 30~33 50 ~ 56 136 ~ 150 165 ~ 180
t 27.1 40.0~43.5 68.0 175.3 ~ 194
t ~ 80 104 ~ 126 ~ 140 ~ 388 ~ 400
0.18 0.1 0.1 0.30
r/min 0.7
0.98 1.0 1.0 0.65
t m 6.7 100 ~ 110 295 238
mm 2800 3050 ~ 3300 3510 4490 4230
mm 5935 6700 ~ 7000 7230 9750 9200
2-8-11 2—
3— 4— 5— 6— 7T 8
2-8-11
1— 2— 3— 4—
5— 6— T— 8—

263 -



150180t

4—

33—

2—

1—

-8-12

5—

2-8-12

4—

300t

70

264 -



2-8-13

2-8-13

- 265 -



0.85 ~

0.95m’/t Si PS
2
1.25~1.45 Si PS
3 D
V. = K,hD? 2-8-30
V.= G/p 2-8-31
/1 /G
D - KN 2-8-32
D= K, /C 2-8-33
h
c— t
o— t/m’
h— mm
K,— d d= 0.65~
0.85 D K, 2-8-9
K,—— K, =1/ 0K, 2-8-9
2-8-9 d K, K,
d mm 0.65D 0.70D 0.75D 0.80D 0.85D
K, 0.536 0.574 0.604 0.637 0.673
K, m’/t 0.520 0.503 0.490 0.477 0.465
4 h dy

266 -



ho= Kuw,| L. o
o = (Og g
2
h=K,) e g,
o1 = 0p  gdo
2-8-35
Fr' = L w_2
P =0, gdo
h =K Fr ,,d,
0 t/m’
o—— t/m’
w— m/s
g—9.81m/s’
Fr' Froude 500< Fr' <800
K— 0.6
1
N, Ar O, Ar CO, CO
3MPa SMPa
CO
10%

2-8-34

2-8-35

2-8-36

2-8-37

CO,

267 -



0.3~0.8Nm’/t min
Ar N, CO,

0.2~0.3Nm’/t min

0.3Nm’/t min

20 ~25%
30%

0.03Nm’/t min

0.02% 0.035~0.040%
N, 5 ~ 10min N,
Ar
2-8-10
3
2-8-10
Nm®/t Nm?/t
% m % m Nm?/t min
min min
— Ar N, 0.05
LBE 100 4.0~4. 0
~0.25
Ar N,
LD - KG 100 3.0~3 0
0.01 ~0.05
Ar N,
LD-OTB 100 3.0~3. 0
0.01~0.10
Ar N, CO,
NK - CB 100 3.0~3 0
0.04~0.10
LD - AB 100 3.5~4 0 Ar 0.014~0.310
Ar N,CO, 0.045
J&L — 100 3.3~3 0
0.012
Ar 0.075~0.20
BSC - BAP 85~95 |2.2~3. 5~15
+N2
LD - OB 80~90 [2.5~3 10~20 [0.3~0.8
LD - HC 92~95 |3.1~4. 5~8 0.1~0.4

268 -



Nm?/t Nm?®/t .
% . % . Nm?/t min
0,/C0,
CO,
STB-P 90~92 |2.0~2.5 8~10 1[0.15~0.25
/No/Ar
0.03~0.07
K- BOP 60~80 |2.0~2.5 20~40 | 0.7~1.5
1 100
2-8-14
!
i
h f
!
]
I
il AL
/ If
2-8-14
2-8-15 a
#0.1 ~5mm
$#0.5mm $3mm
b 10 ~ 150
#0.5 ~3mm
#1.5~4mm Imm
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i KB
PR TR
—B
HiEfL
Wi
A\ " =
Al

2-8-15
a— b—
2-8-16
Imm?/ Imm
x =150x 100 x 30 ~50mm
HiE L
B
H R

- sh5e

AL

2-8-16

2-8-17
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2-8-17

2-8-18

—

2-8-18

b—

Ar N,

3

=

=1.89 I<4Ad /A

P /P
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0.5~5.0mm
2-8-19

Ll

2-8-19

X, mm

max

c

272 -

10

2 -8-38

2-8-139



0,——
62_
2-8-38
2-8-20
) K -1 2)
AM> KM(l > M)
T T 5 2 -8-40
2
%Pz_ 1+ Klzlf” dm> 2_8_4]
2M2(1 —‘Mz)
2
0-0 1-1 1-f
] , //D P
P| L | d
L
P
& - w Ry
W,
= o
2-8-20 P W
M_
K—— 0, N, Ar
1.399 1.400 1.660
A— A=0.025~
0.035
L[— m
D— m
P— 10°Pa

273 -



L -1 1-1 2-8-40 2-8-41 A

JMZ 1_M2
i KM4(1+K‘1 ’

L
szzj—dL 2_8_ 4
M) :

2

i(i_i) K+11(£§_2+ K—le)_AL 58 _43
K\ m> ~ M2 2K "\ M? 2+ K-1 M7 D B
P, "M 2
R Iy ey e rev L 2844
" oM 2M2(1 + T_Mz)
P, ]1/12\/2+ K-1 M
P, " MN2+ K-1 M 2-8-45
M, M,— I-1 II'-1
P, P,— I-1 NI-1
1<21M*2
M = + 2 -8 - 46
K-1_.
l- M
M — 14 a’
2-8-46 2-8-43  2-8-45
2
1 1 M,
K+1( 2~ xz—ln zxz):;tL 2 -8 -47
2K \ M, M, M, D
K-1,.2\,.>
P, (1+K+1M1)M2
S 2-8-48
P, (1+K_1M%2) %2
K+172 !
0-0 1-1
ﬂ_( K—l 2)K/K—l
p=\ls "M 2-8-49

274 -



& ( K -1 *2)—K/Kl
p, = L - M 2-8-50
K—l )I/I—K )
P, (1_K+1 ! - M
- = 2_-8-51
P, (1 K -1 2) "
K +1 !
m
P fW,P
m:fW2P2=fW2R72,2:RT(1 Kz—zl *2) 2 -8-52
0 _K 1 2
02 - Im-1 kg/m‘
T,—— 0-0 K
f— m’
R— J/kg K 0, N, Ar 259.8 296.8 208.2
2-8-47 2-8-51 2-8-52
M, =1  W,=a" =+2KgRT,/ K+1
P, P, -1
K+1[ 1 1 )_M
2K(Mf2 lnM;,,z 1_D 2_-8-53
P, K+1 1( K-1, )““K
P 2 R - %M 2_8_-54
oo [K K+1 e
m = fP, 4'%2“0 2-8-55
q 0.05~0.15Nm*/t min T t
kg/s
m = qTp,/60 2-8-56
Po—— kg/m’
2-8-55 2-8-56 F m’
_qTpy | 2RT, e
F_6OP; KK+1g 2_-8-57
n
/ qTp, 2RT, e
\/471P2 K K+1g 2-8-58
2
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Q Nm®/min

b F
o RT,/¢

n Q=qT 2-8-59

Q = 128.7

_qToov RT\/g
Ja = 128.7anP,

a=0.68 AL/D "
Py T\— 10° Pa

fd:fn-l'fx fn/fx:1N36X/3nlg3

n~ m
x m2
6m_ m
6)(_ m
fu=0 fe 2-8-60
D, D,

f.=0.785 D, +D, D, -D,

3$(D.-D2 <>
2-8-62 2-8-63 D, D,
2-8-40
2
ZI—KM] dM:%dL
KM3(1+T_M2)
1- M0
1-M >0

K

2-8-59
2-8-60
2-8-61
2-8-62
2-8-63
2-8-64
2-8-65
2-8-66



2-8-53 2-8-54 AL/D Py/P; P,/P,

P, - P,

Py/P, = S 2-8-67
S——
P, P,
Py = SP, 2-8-68
P, = SP,
2-8-68
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1 30t

2 30~ 100t —
CRT

3 100t

CRT
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2-9-1

-9-1

2

281 -

2-9-2



282 -

Rz

A
% /////
22 S/

2-9-3
2-9-4




/
2-9-1
2-9-1

15 30 50 100 120 150 200 250 300

24 36 60 120 144 180 220 270 320
1.2 | 2.1 | 2.2 2.53 3.18 3.5 6.25 10
9.314(14.88516.70| 28 41 58 62 68.785 90

30 40 70 130 150 200 230 280 330
50/10{63/16(100/32 225/63/20 | 280/80/20 | 360/100/20 | 400/100/20 | 450/100/20
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2
T
n
f—
n,
365——
1440——
3
2.
1
t 15
min 25 ~28

284 -

%

1440 x365 X n; X tX m,

min

30

%

%

T

24 x 60 = 1440

/a

_1440x365 X n; X t X n,

TX1

_ 1440 x 365 x n; X n,

50

T

100 ~ 120

/t a

150 200 250

28~30 30~33 33~36 36~38 38~40 ~40

300

~40



n, = 365 x 100%
275 ~ 290
300 ~ 320 75 ~ 88%
3
n, = x 100%
- x 100%
98% 98%
95%
4
MgO MgO  98%
3.3
1978 4000 1979 5070
700 2000
2-9-2
2-9-2 h
6~12 8~12 4~9 24 ~ 50 0.5~1 40 ~90
5 2-9-3
2-9-3
<30t 30 ~ 100t =100t
/a 6200 ~ 7400 5600 ~ 6800 5000 ~ 6000
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<30t 30 ~ 100t =100t
2. kg/t 1130 1120 1100
3. kg/t 70 ~ 80 60 50
4. ke/t 10 6 4
5. x 1 Nma/t 80 70 60
6. X 2 kWh/t 25 20 15
1
2
3
_ t/la X min
B % x x 1440 min



30 ~ 50t

50
30t 50 ~ 100
100 50t
4-~6
2-9-5

287 -
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N X L@j
14500
[} 14500
1 +
I 900 U nl
il p 5840
" 0 ' ]
el nxlx xlx
[=—18000——] 009 24oool—|._
fillia]
13 16
/ 17 :
§ [ — 3 - | N
e e e
| RS ANV GILP
5 S
= ! ! 1 \ )
qii?; RtV 1 T \\
uﬁﬁmzm 3 io T_ jrad R 14 &
AT E + 3/9' —_ l,{‘l 10 =)
\ A Hir -
-8 9 I B 1
7
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